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— .1 Identify and briefly characterize the product life cycle. (10 %)

2. Discuss the two new product strategies of market-skimming and
market-penetration. Indicate when each strategy makes the most sense or when
each should be used as the primary pricing strategy. (15 %)

3. Companies must make decisions on how many marketing intermediaries to use at
any level of marketing distribution. Name and identify the three strategies that are
available with respect to number of marketing intermediaries. (15 4-)

4. Define and justify the need for integrated marketing communications. (10 %)
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